'. Lighting 8-800-333-23-77

WEChnOLOEIES TenedoH GecnnatHol ropsvelt nuHuK | TenedoH rapavol niHil | TanedoH rapavaii nikii | Hot line phone

UHCTPYKLWNA 10 MOHTAXY KOMIJIEKT NOABECOB K CBETUJIBHUKAM OLYMPIC

Kapatur DIN 5200C 4 mm Henu nokasaHs! YenoskHo

KapaOur DIN 5209C 4 MM

Hens ceapHan T

Lens ceapHan 0, 26Mm Kapatux DIN 5299C 4 mm

Burm-nemna
M5x40

B komnnekme:
Lens ceapHan iMm (2uwm.)
Hens ceapHan 0, 20M (4Lum.)
Kapaour DIN 5299C 4 wmm (Buim.)
BuHm-nemna M5x40 (4wm.)
Fauka M5 (4wum.)

ﬂpu Heobxodumocmu KOMIeHcupoeamb pa3HOCMb OnuH uenel cocedHuUX ceemusibHUKO8, UCMNoJIb308amb exodmuue 8 Kommnsiekm 2atiku M5, HaKpy4ueasi Ux Ha
8UHM-NemJiu, meM caMbIM pe2ysiupys ebicomy ceemulsibHUKa.

CsetoBble TexHonoruu | www.ltcompany.com | 2014



http://www.ltcompany.com/

'- Lighting 8-800-333-23-77

WEChnOLOEIES TenedoH GecnnatHol ropsvelt nuHuK | TenedoH rapavol niHil | TanedoH rapavaii nikii | Hot line phone

INSTRUCTION MANUAL FOR INSTALLATION OLYMPIC LUMINARIES WITH CHAINS

Carbing DIN 5299C 4 mm Chains shown conditionally

Carbine DIN 5289C 4 mm

Chain fm

Chaln 0,26m Carbine DIN 5289C 4 mm

Encilosed parts: Z
Chain fm (2 pcs)

Chain 0,26m (4 pcs) Screw M5
Carbine DIN 5289C 4 mm (8 pcs)
Hinge-screw M5x40 (4 pcs)
Screw M5 (4 pes)

To adjust the luminaire height, if necessary, tighten M5 nuts (included in the delivery set) on the screws, thereby compensating the difference in the chains lengths

CsetoBble TexHonoruu | www.ltcompany.com | 2014



http://www.ltcompany.com/

